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saflshb / MATHEMATICS
( Tamil & English Versions )

Gy : 2.;. e | [ Guorgs LHLIGUETSET : 100
Time Allowed : 2% Hours | : [ Maximum Marks : 100
@iy [ Instructions :

i) Qeiallammsgrer pravg uedlsd QaraviLg. gatars ueddd awergub
Qarésliu @erer Ghllyssilsug alloveflésamh.
This question paper consists of four Parts. Read the note carefully under
each Part before answering them.

i) acmemib, awHsd Hmssors EEssse Cauam@d. elosarseiiy e gal
Lgsener ( Rough work ) eflen_dgreflen sptiuedifie Qaeflamss sm o,
Write legibly. The rough work should be shown at the bottom of the pages
of the answer-book. Y .

i) GCareuemplles oefléaliu@db wiséms, wsGsreaoalud oL aumamamer
W HCY LweTURSSeub.
The logarithmic and trigonometric tables issued at the centre alone should

be used.
u@dl - o / PART - A
( bl uemaer : 15 ) / ( Marks : 15)
&gliy | Note : 1) Cugddies 2 _efem ufloarha eflermésEn SHE0
e weflésmayb.
This part contains fifteen questions. Answer all the
questions.

i) {é)ﬁi.lﬁsurr{g aflemaip@b GG wHOGLEE.

ach question carries one mark.
i) @odiflelier gaCarm alamalbeh, Breng wibn ala seir

Sieflamiiu’ Heferen. Spubdies  sflurenr e  dsd
QU (m dLomeot mﬂmuuﬁlmaﬁ;%gr'rm QEls. g Ghlseh
sppems ( Alphabet ) aflerm eaion @dlLLI@ G}ﬂml_g'.g,rr;eiﬁ:

TR SHEYD.
Each question has _four choices. Choose the correct or the
most appropriatec onc among them and write down the
alphabet indicating the response. 15x1=15
1. 50 el @ Qarit euflensdles {, =4n +5 eaflé Qura asfursn
In an AP if {, =4n +5, then the common difference is

a) 5 bl 4n ¢) " 4 d) 5n.
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9. - 20:4, % ............ setp QuBdes GaTLfle Qupse alflgn

The common ratio in the Geometric Progression 20, 4, % ey s et 1

1

al 4 b) 20 c} B d) 5
3. &b r G wsien L syopd Carergdldr Gurgsl urliueey

Total surface area of a solid hemisphere with radiusr, is

a)  2ur? b) 3nr? o 4nr? d) %m-ﬂ
4. (AUB)=

a) AUB b) (ANB) 0 AnEB d A-B.
5. A={123845}L,B={L346}edl®@B-A=

fA={123845}B={1346}.thenB-A=

a {25} b) {6} e {145} d {12}
6. 24a%36a’ e S.Oure

The G.C.D. of 24a*,36a” is

a) 24aq° b) 36a” ¢) 6a° d) 12a°%.
7 AR

x-y x-U

Al b) 0 o 1 g

x-y X-u

8  2x+ 3y =<6 g sovurs g ysiefl

A point which does not lie on the region 2x + 3y s 6 is

a) (7.0) b) (3,-3) ct (2,-2) d (0.2)
9. Cr aulLggesmgen 2 crer Camewrie i

al &wb : b) &wb Gdeme

c) Qeshlasmemb : d) @EpiCaremb.

Angles in the same segment of a circle are

a) . equal b) unequal

c) right angle dl acute.
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10. el prspsdler sup Caram 65°, aafld sige adlfGameamin
One angle of a cyclic quadrilateral is 65°, its opposite angle is

a) 50° b) 40° c] 130° d) 115°.

11. 4x + 2y =5 eeinp GrpiGar usn smiay

Slopeofalinedx + 2y =5 is

3 ek B 2 g o a 2

2 2
12. x s@abg E@aursab, ( 3, 5 ) aarp yeefl aflursad Csdeud Camiger
guweTum(®
Equation of a line parallel to x axis and passing through a point ( 3, 5 ) is

a) y=5 b) x=8 ¢l y=3 d) x=5.

13. sin 8 = +/3 cos 0 aeflés 6-a1 iy
If sin B = /3 cos 0, then the value of 8 is

a) 30° b) 60° ¢) 90" d) - 45"

14. Gmmg weondd AL alewssd srem @sdlgb
The formula to find standard deviation by direct method is
z |
A sz . J(&] b) ]’ DES _[E_x]*
n n n n

o J(zﬁ]“_i_xi 5 E_x’_{E_XJi,

. n n n

15. e pflurer Blepsdller Blapssay
The probability of sure event is

a) 1 b} © c) =1 d) Pl
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16.

17,

4

ug$l - 34 / PART-B
(ofu@uetaei : 20 ) / ( Marks : 20 )

efloy | Note : 1) @uuedide Oer@isiu @erer ufloatg alamassid
gCaeud uss allaTésErée LGk allaLwslissab.
Answer any ten from the fifteen questions.

i) efleLssr QupiuL aufipepsst Qar@ésiuL. Coaudm@b.
Show all the steps.

iil) gaGeure aflamalbeb Gren® wHlbluedss.
Each question carries fiwo marks. 10x2 =20

21, 42, 63, .......... TEHID Sl (B Qgmflé 441'q§5mmwm51 2. puy 7
Which term of the A.P. 21, 42, 63, ..........i1s 441 ?

36, 12, 4, .oveevens eI g alisll QUESHES Qarifldr B arams. -
Find the sum to infinity of the series 36, 12, 4, .......... .

18, 4 Qaud. ﬁ.uggpsfrm 66 sbiér quuriy 9t Gl aaile spa aumetugiy
HTEON &,
The base area of a cone is 91 cm? and its height is 4 em. Finc its curved surface
area.
19. AN(BUC)@er QeustuLib euens.
Draw Venn diagram for AN (B UC).
20. A={11.15},B={1517,19},C={11,19.20} eafii® A - ( B U C )
HITeCO & . ‘
fA= {11,156} B = {15,17. 19}, C = { 11, 19, 20 }iindA-(BUC).
21. 8x° - 2x* + mx - 20g (x - 2 ) g SHSeanp) cugdprd m-er ALY BT
Find the value of m if ( x — 2 ) divides 3x® - 2x* + mx - 20 without remainder.
2
x* -x-6
- P —
= S x“+5x+ 6
2
x*=-x-6
Simplify : ————
splsy x“ +bx+ 6
23, sueguy : L.P.P.-ér Bls 2 a8 &ial.
Define optimal solutions of an L.P.P.
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13 Qaif. Srapeier e L gy, 10 Q& 18 ferapeier mTedr eulL. mmmﬁﬂ;ﬁ@rbﬁ
ereicuetey STYHElG BBEHGD fer st AUlgbaab 7
How far away is a chord of length 10 cm from the centre of a circle of radius
13em 7
EremEst ABb CDyb el gdflaner Pullé  Qeans Llarardldmpar. AP = 8,
AB = 17 wppid CP = 12 ereflés CD-fléit wdliy sredns.
Chords AB and CD cut at P inside a circle. f AP = B, AB = 17 and CP = 12, then
find CD.
(8.4)(1, 3)vbphd (3, -1 ) sl 2 éfzmears QarciL WwsGaransglen
BH&CHETLE enowb sradns.
Find the centroid of the triangle whose verticesare (8,4 )(1,3 jand(3,-1).
smiey -3 guaan ( -2, 3 ) aaip ystefliller afluraap Qeadldan CriGariged
geTur(f SIS, '
Find the equation of a straight line whose slope is -3 and which passes through
the point (- 2, 3 ).
awECaranalud oL auaneamaiy LUETURSS sin 44 36 + tan 49" 40-en W&l
T e & .
Using trigonometric tables, find the value of sin 44° 36 + tan 49° 40
g6 Qsrifldar wrgunl@é GQeap 80% Lhnd Sigd&T &=l gyredl 20 eaflé
Qem_fler dll_alaésh aradns.
The co-efficlent of varlation of a series is B0 % and its mean is 20. Find the
standard deviation of the series.
@® prevwisst Gy Crprsfle s@mLOUED Gurig sflure pomson wWLGD
flen_tiughaner flapsea aerer
Two coins are tossed simultaneously. What is the probability of getting exactly
one head 7
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31.

a2z

uggl - @) / PART - C
( wHoGusmaet : 45 ) / ( Marks : 45)

ety | Note ;1) @ouedde 10 elaméser 2sherer. palGamns alemaigid

@l by eflenTéset o_eferen.
This part contains 10 questions each with two alternatives.

i) gpabare olaralen zstern e wipp olerssehen
gafloas CarpCs@ss, Curish gaug olomsamés
allenLwef&s Geustor(Hib.

Choose either of the altermatives in each question and
answer any nine questions.

iif) Cpemeuurenr @Lisetld Glgefleursr  Losel, uLdsel

Qar@ésiu.. Geusdor(Bib.
Steps and diagrams should be shown wherever necessary.

v) gaGars allamalibeb mba wHLCILN .

Each guestion carries five marks. 8x5=45
200-5@h 40046@k Qe Gu 13-gu6 aEURD Seads aanssiear s’ Hluee
SN S .
Find the sum of all numbers between 200 and 400 divisible by 13.

yeveug [ OR

usshiser papGu 1 Gaif., 2 Geif., 3 Gail., ... 15 Qe.f., senaysel
Qaredor_ 15 sanggrhssilan sarsmamefler sapae wrg 7
Find the sum of the volumes of 15 cubes, whosc sides are 1 cm, 2 cm,

3 cm, ...... 15 cmn respectively.

o6 wrédors eullurag :Goaildsr EGuUDWDE OrsGaTerd SOLHSS
Gurerp angelgueiens. spdr Qurgs 2 wrd 19 Qs .18. 2 geendar alllLd 7 Q& b,
eraflés wrsdlenyd GUtlen sersiene sTmE.
A capsule is in the form of a cylinder with hemispherical ends. The total height of
the capsule is 19 cm and the diameter of the cylinder is 7 cm: Find the volume of
the capsule.

syeveug [/ OR
GG 2 Geovenlles uqluses b 12 Qe .., surh 16 Qz.8. s 2G5S 8 s
SiETaisEnster CararhaenTas Qelste, peabounm Carargdlear syb e 2
A solid right circular cylinder has base radius 12 ecm and height 16 cm. It is
melted and made into 8 spherical balls of equal size. Calculate the radius of each
spherical ball.
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GrusiTuLBisements LudTURSS A-(BNC)=(A-B)U(A-C )ear Blnieys.
Prove, A-{BNC)=(A-B)U(A-C )by using Venn diagrams.

yevevg / OR

200 Guir surpd G Ce@ale 120 Cuir yudle Csiflgsreramenyn, 80 Gur S8l
Qeiflszrersmeanyb, 30 Cut Caars G\éi@ﬁ.ﬁnsﬁmmmu{m ugsSlprisei. 60 Guri
Sidlogbd sflapb; 20 Gui sllwd CEamien: 15 CuT Qeguieh Symflepb; 9 Gui
sevar Qelgls srataeenyd ugsdpriser. aaflld apsGare Celdssramenyn
aurélésraaiasiier acuadléams e 2
There are 200 persons living in a street. Of them, 120 read Engush newspapers,
80 read Tamil and 30 read Telugu newspapers. If 60 read both English and

-Tamil; 20 read both Tamil and Telugu; 15 read Telugu and English newspapers;

and 9 read all the newspapers, find how many do not read any of the three

newspapers.

ﬁ"tﬂ&a&:x+y-—3. y+z=1, z+x=-8

Solve: x+y=-3, y+z=1, z+x=-8
Hébevgy /| OR

sryiiu@EEs : 2x° + x° - Bx + 2

Factorise : 2x° + x* - 5x + 2

4x* +12x° + x* + ax + b adUg GG PatEsd aafld a, b-flér LAy srere.

If 4x* + 12x* + x* + ax + b is a perfect square, find the values of @ and b.
yebaugy [ OR

*+2(@+b)x+2 (@® + %) = 0 ;m'ﬁrugc&r woksst Culude aad ST.HS.

(a=b aerés Garsia )

Show that the roots of the equation x* + 2 (a + b)x + 2 (a® + b?) = 0 are not

real ( given thata = b ).
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36. Uemaumid Crflu gpwaur@sEnéE auemquLb apeib Firey &eoib srans.
x-2yz-8
3x+y=18
xz0, yz0aap sCGLuT@RSetiaTug STs.
(sueruLS sreenl LuSTURSSE Camanlidaa ) .
Draw the graph of the following system of linear inequations and find the

solution set :
x—-2y=-8
Ix+y=18
xz0, y=0.
( Graph sheet need not be used )

ebeug / OR
G0 L sfld sre sy ameam Seraunmp
-1 i T
Qzwe 1-2|1-6|2-3|2-4|3-5|4-5|6-7 |5=8|7-8
FRITE &I
R 7 6 14 5 11 7 11 4 18
( priseflén ) _

U@Ll ULD euarhi Frabsshs UTOgamus Srams.
A project has the following time schedule :

Activity 1-2|1-6|2-3|2-4|3-5|4-5|6-7|5-8|7-8
Duration in |

i 8 14 5 11 T 11 i 18
days |

Draw the network diagram and find the critical path.

37. Usmereév Gahpéos eqpd Hesll.
State and prove Pythagoras theorem.

Syevsugl /| OR

Geoanarpdlear adhenr ubstsdr alljoss OCarEdlpy aafld Gaamsrid
smiggiTh eren Hlenlsaab.

If all the sides of parallelogram touch a circle, show that the parallelogram is a
rhombus.

Page 1 of 11 For more questions logon to
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(-3,-9),(~1,6) (3, 9)wdpbd (5 -8 ) yfluabeon 2 éflaamad Qaredr
BTD&THEE LTLUeTEYy T s.
Find the area of the quadrilateral whose vertices are ( -3, -9 ), (-1, 6),(3,9)
and (5. -8 ).

geveug [ OR
2x — 3y + 4 =0, 9x + 5y = 1-9 whgd 2x - 7y + 12 = 0 g &l @g#@mn@;ﬁsﬁ
6 yerefille spdléSlammer aar flpdl. Cuab spflésd ysrellow srans.
Show that the straight lines 2x - 3y + 4 :{III. 9 +5y=19and 2x-7y + 12=0

are concurrent. Find the point of concurrency also.

ués semey 10 Qs .. Qaran 36 ubshsEroLu GO UG U Garemm sl
2_ETeU L. STHGE STt .
Find the radius of the incircle of a regular polygon of 36 sides each of length
10 em.

, 2yébavg / OR
45 . s wygpeier uewmgds sl sdlar o sfldeba goat sly sdlér Gy
LEEEEG ewbs @ran® elembur usemssenar 30°, 45° @n&és Caranzdle
umraRprt erefléh allemburt) e ssELSS B CuusTar gNTSamad SIS,
A man standing on the top of a 45 m high multistoreyed building is looking at
two advertising boards on the same side whose angles of depression are 30° and

45°. What is the distance between the two boards ?

@ohe suTé® eusdldr aamLsedr wepGu 11, 14, 15, 17, 18 ( &. & ) aysb.
GQeabdld Hie desaposyd wpph odess afés srreflowyd semsdl@s.
(gGag@b G© Wapaou LuETURSES )
There are five post bags which are weighed as 11, 14, 15, 17, 18 ( In kgs ).
Calculate the standard deviation and variance ( use any one method ).

ysbevg /| OR
@m useLsst efsiu@d Gurg 3 @1 LLEG Wsh usoLddr wsidle
CUHELGM ST  D{SEIE @E}. aceellel &mPsd 7 @ SoLlushere Hlapasa]
&ITT0 & .
What is the probability of getting a multiple of 3 on the face of the first dle or the

total of the numbers on the faces as 7, when two dice are thrown ?
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41.

42, .

u@d - / PART-D
{ ol @uetmast : 20 ) / ( Marks : 20 )

@fliy [ Note : 1) @uueddée o allemsser o doer. gaGaums alarmalian
@l wrpy eleiméame 2 eteTe.
This part contains two questions, e¢ach with two
alternatives.

i) eeaGaure alamallgbd @ wrpp alemalomens Gafeay Cleds,
Bm aSlenrssenied el wellssab.
Answer both the questions choosing either of the
alternatives.

i) eaiblarm allemalipeid 10 wHuGucds: &ef.
Each question carries ten marks. 2x10=20

AB =6 Qs.f,, BC =8 Qa.f, AC = 85 Qe L., wppid AD = 5 Qe LS. seneys@neiren
ABCD ereftp m'_l_grr;ba.;;in ELIETLIEYLD.
Construct a cyclic quadrilateral ABCD with AB = 6 cm, BC = B cm, AC = 85 cm
and AD = 5 cm.

Syevevg [ OR
Sigluksd BC = 4 Qe m £ A = 60° 2:80flpha BCHE ausguiu@h
@pgslariyd fern 3 Q&L aar GHseiby Ww&Carawib ABC cuanys.
Construct a triangle ABC in which base BC = 4 cm, m £ A = 60° and the altitude

through the vertex to BC 1s equal to 3 cm.

ys= Xt - x - 8-an cuampULD eueorhg, SiSdr @eb x° - 2x - 15 = 0 adm
suduTl L g diée
Draw the graph of y = x* -x -8 and hence solve the equation
x* - 2x - 15 = 0.

Sz [ OR

Page 1 of 11 For more questions logon to
www.apsira.com/gbank



WWW.APSIRA.COM
Education in India
11 3320

Epsargmid S L aimanbenhs CuUITULD suenys ¢

|, &0 (B il e :
- Axens 1eugy 2eugl 4aug Bcugl 10aug
@ludflysSlen

Doy ( pumdé ) 1,000 500 - 280 125 100

o-aug siegd Bubdirsdldr o 3Cse vdlous arcos.

For the following table, draw a suitable graph and estimate the value of the

machine in the fifth year.

Year 1st 2nd 4th 8th 10th

Value of the

Inachine (In RA) 1,000 500 250 . 125 100
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